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System.out.printin(“*Hello”) ;
line = reader.readLine() ;

n = Integer.parselnt(“*100") ;
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#1381 (Discountl.java)

public class Discountl {

public static void main(String[] args) {

int p, q;
p = 10000;
q=p/2;

System.out.printin("JTDEEMN" + p + "AEL, FEEZE" + q + "HIZBYET . ");
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{j1z82 (Discount2.java)

public class Discount2 {

public static void main(String[] args) { // mainAJyk

int p, q;

p = 10000;

g = halve(p);

System.out.printin("JTDEELN" + p + "AEL, FEEZE" + q + "HIZBYET . ");
+
public static int halve(int n) { // halve AUk

return n / 2;
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public static int halve(int n) {

return n / 2;
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%83 (Graphl.java)

public class Graphl {

public static void main(String[] args) { // mainAJyk
printGraph(10);
} > RYELNENES
public static void printGraph(int x) { // printGraphAYwk
for (inti=0;i<x;i++){
System.out.print("*"); BRRES i ORa—T
by
System.out.printin(*);

+— returnX%L(RYEZL)
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HIRE4 (Powerl.java)

public class Powerl {

public static void main(String[] args) { // mainAJyk
System.out.printin(getPower(8, 2));
} . .
/X D n EQE */ / SI8H (LR R)
public static int getPower(int x, int n) { // getPower A vk
inty = 1;
for (inti=0;i<n;i++) {
y=y*X;
+
return y;
b
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static PrintStream |err

[Z | TS5—H DR —LTY,
M2 AHNRN)—LTT,
M4 | H AR —LTI,

static InputStream |in

static PrintStream |out

http://java.sun.com/javase/ja/6/docs/ja/api/
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181 (Heikinl.java)

public class Heikinl {
public static void main(String[] args) {

int kokugo, suugaku, eigo; } EHDS
double heikin; =
kokugo = 63; )

suugaku = 90; .

eigo = 75; r A
heikin = (kokugo + suugaku + eigo) / 3.0;
System.out.printin("E&&(X" + kokugo + "R"); )
System.out.printin("# (%" + suugaku + "/m"); C sm
System.out.printin("#£:&E" + eigo + "m"); =
System.out.printin("¥E#3 K (E" + heikin + "&");
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HIzE2 (Heikin2.java)

public class Heikin2 {
public static void main(String[] args) {
int[] ten;
double heikin;

ten = new Iint[3];

ten[O] = 63;
ten[1] = 90;
ten[2] = 75;

heikin = (ten[0] + ten[1] + ten[2]) / 3.0;

System.out.printin("EFE (X" + ten[0] + "&");
System.out.printin("#=£ (3" + ten[1] + "&");
System.out.printin("EZE (X" + ten[2] + "&");
System.out.printin("E¥ K(E" + heikin + "R");
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int[] ten;

ten
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B new 2R [ EFOEH] ;
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ten = new int[3];
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ten[O]

ten[1]
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ten[0] = 63;
ten[1] = 90;
ten[2] = 75;
SHRETH

\ int&! Az 51

63

90

75

ten[O]

ten[1]

ten[2]
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heikin = (ten[0] + ten[1] + ten[2]) / 3.0;
System.out.printin("ElZE X" + ten[0] + "=");
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\ intE A3

63 90 75
ten[O] ten[1] ten[2]

ten
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BESI DL

B 5= int[] ten;

B ER ten = new Iint[3];
m XA ten[0] = 63;

S8 System.out.printin(ten[0]);
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IZE3 (Heikin3.java)

public class Heikin3 {
public static void main(String[] args) {
int[] ten;
int sum;
double heikin;

ten = new int[3];

ten[0] = 63;

ten[1] = 90;

ten[2] = 75;

sum = 0O;

for (inti=0;i1<3;i++) {
sum = sum + ten[i];

b5
heikin = sum 7/ 3.0;

System.out.printin("EzE[E" + ten[0] + "&K");
System.out.printin("#=(&" + ten[1] + "K");
System.out.printin("EEE(L" + ten[2] + "KR");

System.out.printin("E# K (X" + heikin + "m™);
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L HEIERDSE

sum = 0 ;
for (inti =0;i1<3;i++) {
sum = sum + ten[i];

}

sum = sum + ten[0] ;
sum = sum + ten[1] ;

sum = sum + ten[2] ;

sum = ten[0] + ten[1] + ten[2] ;




AcF (R9FE)
%84 (Heikin4.java)

public class Heikin4 {
public static void main(String[] args) {
int[] ten;
int sum;
double heikin;

ten = new int[5];

ten[0] = 63;

ten[1] = 90;

ten[2] = 75;

ten[3] = 45;

ten[4] = 81;

sum = O;

for (inti = 0; i < ten.length; i++) {
sum = sum + ten[i];

}

heikin = (double)sum / ten.length;

System.out.printin("Ez& (X" + ten[0] + "&
System.out.printin("#2£ (X" + ten[1] + "&"
System.out.printin("&E:EE" + ten[2] + "R’
System.out.printin("E&E" + ten[3] + "=’
System.out.printin("#t (X" + ten[4] + "&'
System.out.printin("FE# s IE" + heikin + "&");
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BEAlDES
B fid%l4.length

sum = 0O;
for (inti = 0; i < ten.length; i++) {
sum = sum + ten[i];

¥
heikin = (doqble)sum / ten.length;

I v ANEEF (R #H)
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1R85 (Heikin5.java)

public class Heikin5 {

public static void main(String[] args) {
int[] ten = { 63, 90, 75, 45, 81 };
int sum = O;

|mt

S . DHE GREER. KA)

for (int i = 0; i < ten.length; i++) { A\
sum += ten[i];

by
double heikin = (double)sum / ten.length;

System.out.printin("EzE[E" + ten[0] + "&"); >
System.out.printin("#Z(E" + ten[1] + "&K");
System.out.printin("ZEEEL" + ten[2] + "K");
System.out.printin("E& X" + ten[3] + "&");
System.out.printin("#t =& + ten[4] + "=R");
System.out.printin("FE R (X" + heikin + "&"); )
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int[] ten = { 63, 90, 75, 45, 81 };

int[] ten; /l BES
ten = new int[5]; /! FELR
ten[0] = 63; /1 KA
ten[1] = 90;
ten[2] = 75;
ten[3] = 45;
ten[4] = 81;
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1786 (Heikin6.java)

public class Heikin6 {
public static void main(String[] args) {
int[][] tens = {
{ 63, 90, 75, 45, 811},
{ 85, 100, 95, 80, 90 },
{ 100, 100, 100, 100, 100 },
};
for (inti = 0; i < tens.length; i++) {
int sum = O;
for (int j = 0; j < tens[i].length; j++) {
System.out.print("¥t" + tensl[i][jD);
sum += tens[i][j];

}

}

System.out.printin("¥t| " + (double)sum / tens[i].length);
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int[][] tens;

—RuEBEHNDEE &NEAML (FERR &K A)

int[][] tens = {
{ 63, 90, 75, 45, 81 },

{ 85,100, 95, 80, 90},
{ 100, 100, 100, 100, 100 },

};
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XIcHEeHl
ZREFI DS tens[i][j]

J

> 0,1,2,3,4

{ 63, 90, 75, 45, 811,
{ 85,100, 95/ 80, )90 1},
{ 100, 100, 100, 100} 100 },

0,1,2 tens[1][3]




AC A (55

FOE)
R ICBECS]

= Iength { 63, 90, 75, 45, 811},
{ 85, 100, 95, 80, 90},
SEALY .
= i| £ 100, 100, 100, 100, 100 },
tens X
\ SRALEH
tens.length =3 ... i ten[O0]
ten[1]
P \ int2!&2 5 tens[i][j]
en
- 63 90 75 45 81
tens[O].length =5 ... j
85 100 95 80 90
N 100 100 100 100 100
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int[][] arr = {
{ 3, 14, 159, 26 },
{53, 5}
{ 897, 93, 238 },

};
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HIZE7 (ShowArgs.java)

public class ShowArgs {
public static void main(String[] args) {
System.out.printin("args.length O{E(L " + args.length);
for (inti = 0; I < args.length; i++) {
System.out.printin(args[" + i + "] OfEIEL " + args[i] + " TY,.");
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m kv ay] N E-|

public class ShowArgs {
public static void main(String[] args) {
System.out.printin("args.length O{E(L " + args.length);
for (inti = 0; I < args.length; i++) {
System.out.printin(args[" + i + "] OfEIEL " + args[i] + " TY,.");
}
+
+

B args : XFAEHI(51%5)])
B args.length : 51D AL
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public static void main(String[] args) { ... }

> java ShowArgs(This is good

SHRLTS ot
LR avR5IEk
args
: L
args.length = 3 args[O]4
args[1] .
StringA 27> ok
args[2]
“This”
HiSH
N

“good”
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#51g88(1) (Kamoku.java)

DSANEE

public class Kamoku {

String namae; // ¥ B4 ‘
int tensuu; /] R Z4—ILk

/1 F B DR \
public Kamoku(String namae, int tensuu) {
this.namae = namae;
this.tensuu = tensuu;

by

r AVARSOA

7 > AUk

/l B EDOXFHIRH
public String toString() {
return namae + "[&" + tensuu + "|";
} J
b
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BIZE8(2) (Heikin7.java) . 2y 2mp

public class Heikin7 {
public static void main(String[] args) {

Kamoku[] kamoku = {
new Kamoku("E§E", 63),
new Kamoku("'#%", 90),
new Kamoku("'®5&", 75),
new Kamoku("'##f}", 45),
new Kamoku("ft&", 81),

¥

int sum = O;

System.out.printin(kamokuli]);
sum += kamokul[i].tensuu;

}

N

for (int i = 0; i < kamoku.length; i++) {

-

double heikin = (double)sum / kamoku.length;
System.out.printin("E# (L + heikin + "&");

AV RBZ ZADVERL & ¥ ER1E
AV ANSIRELT
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toString AVvk
B System.out.printin(f> X2 X)) TXFHIF
Rt H=HDA )k

System.out.printin(kamokuli]);

=L S

public class Kamoku {

public String toString() {
return namae + "[&" + tensuu + "R";

}
-
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ten = new int[3];

new (’ﬁﬁiﬁﬁﬁﬁ)

ZHE/MA
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(Read/Write)
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